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1. IRERAFE

WpNA 2, ENHRI, a € Z, Hfifte € ZAE
fip | 2¥ — a, MULFAR X2 = a (mod p) AR E),
FHhra pHIE IR 4.

RHL(CRE R Wep g A FIRr 40 U

() Zp, ¢ 2084k + VB,

22 =q (mod p)Eff — 22 =p (mod q)Hf#.

(i) Zip, g N4k + SIEHHT,

22 =¢q (mod p)Aff < z°=p (mod q) L.

TIRH R EUlerfE1750FE 4 H, 1785 Legendre
BRI IFFL A UE R, 17964F 194 [f1Gauss i IR 4
H RS UE B . Gauss AR A H TR B AR\ ANAS[F] 1Y)
UFAH. GaussFR Ik Bk AR A7
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2. MAEACE

EH2. (Fermat-Euler, P -7 fEH) EATHRFP
FEA S EW N, 8N4k + VB 220 ME—HR i A4~
AL (p = a? + b?)

TCH3.(Euler) wp A3k + 1B R, NIAFAEME—1)—
X ESREL, MAE1R4p = L2 + 27 M?.

3.Euler T = PURFE 4 K55 A8

Eulerf541(1748-1750): %pk3k + 11250, M)

3 =2 (mod p)HR — p= A%+ 27B?(A,B€7),
3 =3 (mod p)ff# < 4p = A 4 243B°.

Eulerf542(1748-1750): i&phdk + 1%,

4 =2 (mod p)Hff < p= A+ 64B?(A,B € 7),
z* =5 (mod p)Hff — p= A%+ 100B2.
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4.GaussHPUIRH Jx i

Gauss 18074 Hanif o7 = Uik Fe) 4, 18284518324
il BT P R DY IR 418 S, e DU R B S A

GaussFHIA: Z[i) = {a+ bi | a,b € Z}.

ZL) P YRR 43R i o, € Z[3], FHaz* = o (mod )
EZ[ P B W R A fEr,y € Z[ifliz* =
o+ ym.

UK B R o, m AZ[ AT 73 20(Gauss &
%), Wz* = o (mod 7)) AZ[{) T i i kT2t =
7 (mod «)ZEZ [ &7 ] .

Gaussiit VU ¥k B, Jx AEIE BH A2 55 H i R B b 2% DY
RH AR —N R IPIE R J& T-Eisenstein (1844).
MATFEGauss ) i fe & IR At ¢ T VY vk B A3 175
5 1k BT LA UE B . R DY IR B s 4R mT ik BHEuler %
12,3,504k + VB EZpIVY IR S5 A,



5. Eisenstein(Z#A&MiH) 5 =k b
w=(-14++-3)/2.

Eisenstein®# ¥4 : Zlw] = {a + bw | a,b € Z}.
{EZ[w] P25 8 =00 g in i, AT =R 0

ZWRHE RIERE: Wo, mNZ[w] PATTS33 (Eisenstein
ZH),z3 = o (mod 7)AEZ[w]H 275 7] fif B vk
Fx3 =1 (mod a)EZ[w]H 215 n] fiF.

1844521 % 1 — - Kz EisensteinfE 44
[P CrelleZei F A T 250 B2 3, HoHH B RE = D0k
B E UEW (N Gauss ). B Ji5 Jacobi's Fi
fhAE 18374 42 AL s Hp 45 ik = PUIR B S A AR
.

18454 -Eisenstein X H|F] Abel frI [ ek £ i ik
Hl = POk B /. 18504 Eisenstein @iy — & kik (kK
EH) H R, W24 Eisenstein H 8. GaussHk
Eisenstein;g 2 F WA, S K — k1B f#
HHArtinfE1927 4T .
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6. Burdef BP0k H jxfE

iE #4(Burde, 1969) ikp,¢h AFEIM4k + 1B ER
%, 22 =p (mod ¢Q)HM, p = a?+b2,2b, ¢ =
c® + d?,2|d,

(i) #z2 = ac —bd (mod ¢)HfE, N

4 = g (mod p)Ffif — 2 = p (mod q)fH#.

(i) &z2 = ac—bd (mod ¢) L&, N

2% =q (mod p)HM <— z* =p (mod ¢) Lfi#.

7. BEG(q) 5 =R E A

X FE g, 2L NI RS ]I
Lq={q2,1 +qZ,...,q— 1+ qL} =7/qZ,
W ZqF3g A TEER k.



SEES WpAERE, mn,x € Z, pfm, mr =
n (mod p), NWEX" =2 (mod p).

TN NHEHg > 3%
G(q) = {oc}U{x: 12 #£ -3, z€ L}
X,y € G(q)E —Jtis®
xy — 3
x+y
#itn: (1) G(5) = {0,£1,42,00}. EG(5)H

1-2-3 1
142 = = _Z=_2
142 3

_1-(-2)-3
B Ry
(2) G(7) ={0,+1,+3,00}. fEG(T)H

3*3:3-3—3:1’

34+3

1. (-1)-3 _
1x(—1) = L1 (1) = 00

T *Y = (coxx = x %00 = T).

=5=0.




EH5(Z.H.Sun, 1998) i%q > 3N %,

(g) B { 1 #qg=1 (mod 3),

3/ | =1 #q=2 (mod 3),

WG (g) Heq — (4 IFERRE (oo g BRIE) . AT T
=R A 2 E R .

EH6(Z.H.Sun, 1998, ¥ =X b Jxff) %p,q >
3ARFEZELH, p=1 (mod 3), 4p = L2 + 27 M?
(L,M € Z),N

= q (mod p)fH#
L
< 3—MEG(Q)EP — IR
L s3 — Os

< q| M or — =

3 = 32 (mod q) for s eZ.




SR Hg > 3, ILG(q) =K TR Go(q),
i
Go(5) = Go(7) = {0,000}, Go(11) = {0,=+5, oo},
Go(13) = {0, +4, 0o},

Wph3k + 1EEH HAp = L2 + 27 M2

2> =5 (mod p)ff# < 5| L or 5| M,
2> =7 (mod p)fif# < 7| L or 7| M,
x> =11 (mod p)Hf# < 11|L, 11| M
or L=45-3M (mod 11),
2> =13 (mod p)fifit <= 13| L, 13| M,
or L=+4-3M (mod 13).



8. MH(q) 5 HHEMIKE S

EX MNEEE, Y
H(q) ={oo}U{z: 22 # —1, z € Zg}.
Mz, y € H(q)ME — s
xy — 1
x+y
#itn. H(5) = {0,+1,00}. fEH(5)H
0-1-1
1x0 = = —]_,

0+ 1
_1.(-1)-1 _
1x(—1) = (1) = oo.
%JEET(_Zl.H.Sun, 2001) WqHATHEE, WH(q)Rq—
(—1)"Z M EERBE (oo ks AT IT), AN R 47 DU I

TR (g — (—1)"2) JAWRIR TR

T *Y = (coxx = x %00 = T).




EFIS(Z.H.Sun, 2001, HAIPYRE ) B#p,gN
RABEH, p=1 (mod 4), p=a?+b°(a,b €
Z), 2| b, M|

% = (~1)"2 ¢ (mod p)Hfit
— %;%H@EPM%

4 2
a SsT—6s<+1
— = mod for s e Z,
b 453 — 4s ( a) i

22 = (—1)2 ¢ (mod p) %l
= %%H(qw:rk%(ﬂ?ﬁ)
a 2 —1
<= q|bor . =

for some s € Z.
28
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X E il H (q) U I 89 Ho (q),

Ho(3) = Ho(5) = {oo}, Ho(7) = {0, 00},
Ho(11) = {£2, 0}, Hp(13) = {£3, o0}.

Wep hak+ 1 E S Hp = a?+b%(a,b € Z,2 | b)Y

% = -3 (mod p)HIR < 3|,
z* =5 (mod p)Hfi# < 5| b,
%= -7 (mod p)HM < 7|aor7|b,
2% =—11 (mod p)Hfi# < 11]|b or
a=+2b (mod 11),
z* =13 (mod p) A < 13|bor
a = +£3b (mod 13).
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